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2016
PHILOSOPHY — GENERAL

Second Paper
Full Marks — 100

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks
First Half
(Western Logic)

Answer Question No. 1 and any two questions from the rest, taking one from each Unit

1. Answer any four questions : 5x4

(a) What is meant by distribution of terms? Illustrate with reference to four
categorical propositions.

(b) Explain, with examples, any two differences between sentence and
proposition.

(c) Which proposition do we get by denying a tautological proposition?
Explain with an example.

(d) Is simple Conversion of A proposition possible? Discuss.

(e) Express the following two sentences in Boolean notation and represent
them by means of Venn-diagram :

(i)  There are white elephants.
(i1) Only a few Indians are wealthy.
(i  What is contraposition? Why is it called an immediate inference?
(¢) What are the two claims made by Mill about his methods?
(h)  Give the symbolic form and a concrete example of Mill’s method of
agreement.
Unit - 1
2. (a) Transform the given sentences to their logical forms, express them in
Boolean notation and represent them by means of Venn Diagram : 4x2
(i) Only citizens of India can vote.

(i) Baboons are carnivorous monkeys.

(h) What is obversion? State the rules of obversion. 245
3. Test the validity of the following arguments/argument forms with the help
of Venn Diagram (any three) : 53
(a) AOO-2
(b) AAl -3
(¢c) EAO-1I

(d)  All poachers are intruders. Hence, all poachers are trespassers, for some
intruders are trespassers.
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Unit - 2
4. (a) Test the validity of the following arguments by the truth table method
(any two) : 3x2
(i) (AvB)D(A-B)
~(AvB)
~(A-B)
(i) PVQ
P
2 Q
(iiiy RS
ST
L AIVE
(b)  Determine with the help of truth tables whether the following statement
forms are tautologous, self-contradictory or contingent : 3x3

(i) [Po(~PoP))>~P
(i) P=[p-(q~q)]
(i) Pv~P)-(qoq)

5. Explain and examine Mill's method of difference with examples. 10+5

Second Half
(Psychology)
Answer Question No. 6 and any two questions from the rest, taking one from each Unit

6. Answer any four questions : 5x4

(a) State the attributes of sensation.

(b) What are the primary laws of learning as formulated by Thorndike?
(c) State any two causes of forgetfulness.

(d) Whatis1.Q.?

(¢) What is meant by ‘figure’ and ‘ground’ of perception?

(/) What are the factors of memory?

(g) Whatis dream-work?

(h) What is repression?

Unit - 3
7. What is perception? Distinguish between sensation and perception. Is pure
sensation possible? Discuss. 4+7+4
8. Explain and examine Freud’s theory of dream. 10+5
Unit - 4
9. Explain and examine the Gestalt theory of learning. 10+5

10.  Explain the distinction between chronological age and mental age. Critically
discuss the Binet-Simon test of intelligence. 5+10
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